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1 Joa S | AR 100f#,/mLIL R 0 0 0 0
2 AW KB H Bz e] i | A | Al [ A
3 BRIV LK ZFDILEWY 0.003mg/LLL — — — —
4 KEE K N DALEY 0.0005mg/LLL —
5 B YL R OZFOLEW 0.01mg/LLL — — —
6 % A OZE DLW 0.0lmeg/LLLF — — —
7 Y [eZKROCZDILED 0.01mg/LLL F — —
8 /S a b & 0.02mg/LLL — —
9 HO|dEmEER 0.04mg/LLL — —
10 & T AbAA L KONk T | 0.01mg/LUA T — — —
11 B |FEREREZE R N OVl PR e 22 R 10mg/LLL T 1.3 1.5 1.4 1.6
12 7Bk REDILEY) 0.8mg/LLL T — — — —
130k B2 M OZDILED 1.0mg/LUL T — — — —
14 |FE RS 0.002mg/L.LL — — — —
H N e 0.05mg/LLL T — — — —
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16 + i}g Lo-rmnT gLy 0.04mg/LLL — — — —
18 |1H ) SRS 7unTF L 0.01mg/LLL T — — — —
19| H NVEEES %% 0.01mg/LLA T — — — —
20 N 0.01mg/LLL — — — —
21 e 0.6mg/LLL — — — —
22 e 0.02mg/LLL T — — — —
23 W ranail 0.06mg/LLL T — — — —
24 - |Yr7ualiz 0.03mg/LLL T — — — —
25 f'ﬁ DT O OaAL 0.1mg/LL T — — — —
26] | i [AER 0.01mg/LOLF | — — — —
27 s NI =Y Y% 0.1mg/LLL T — — — —
28 ) N) oo FERE 0.03mg/LLL T — — — —
29 Tt aaAi 0.03mg/LLL
30 7 aER/IL L 0.09mg/LLL T — — — —
31 FIVLT LT ER 0.08mg/LLL T — — — —
32 HEn M N F DAY 1.0mg/LLL T — — — —
33 & ([TAR=U LK ZDOIED 0.2mg/LLLT — — — —
34| K| & [BROZ DL 0.3mg/LLL F — — — —
358 8k N DL E W) 1.0mg/LLL T — — — —
36| X[k [T AR OZDILEY 200me/LLL — — — —
37| FBa I RO DAY 0.05me/LLL I — — — —
38| H b4 200mg/LLL T 19.6 15.9 18.5 11.6
39|97 Bk (Ao A =T R A% GEE) | 300me/LUL R — — — —
40 |~ ZRFRRE W) 500mg/LLL — — — —
41 | E |34 S i A 0.2mg/LLL T — — — —
A2 |[ME| DD =4 A3 0.000001me/LLL [ 0.000001 4% | 0.000001 5% | 0.000001 543 | 0.000001 43
A3k B [2-ATF VAV IR R A — )L 0.000001mg/LLL | 0.000001 1% | 0.000001 3 | 0.000001 7% | 0.000001 3
44 |1z [BIBIFEA A Tl g A 0.02mg/LLL T — — — —
45 | R &7 =/ -V 0.005mg/LLL T — — — —
46 || M [GHEM(EEHEIKETOC) D) 3mg/LLL 0.8 0.8 0.8 0.8
47 7| & [pHIE 5.80L -8.6LL | 7.5 7.4 7.5 7.2
48 || WE [BE FH TRV | ®EaL | REikl | BEel | Rl
gl 1 [EX B TrpnwZl | BmunL | BEaL | BEal [ BEel
50 i N S5PEELL T 1 i 1A i 1A i 1A i
51 el M5 VLT 0.1 | 0.k [ oKW [ o.1Kim




